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YOYO: Looking at the gif of the dog sledding, make a prediction, which process is spontaneous, which is
non-spontaneous. Write at least 2 complete sentences explaining your reasoning.
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Spontaneous Reactions vs. Non-Spontaneous Reactlons
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1. Given the balanced equat:on representing a phase k !
CGH.;Cl(i)i- energy -» CeHs ( £

Which statement describes thls change?
a. Itis endothermic, and entropy decreases.
@ t is endothermic, and entropy increases.
‘ It is exothermic, and entropy decreases. .
; / It is exothermic, and entropy increases ms (6 why we doit teach our Childrea
aloout enh'upy urhl mudh lafer...
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2. The entropyofa sample of H20 i increases.as the sample changes from a

a. gasto aliquid ¥ _ v @:qmdto agas 1 ,enhg?p&, q\

"b. gastoa sohd v liquid to a solid [,
- o Uoss1aG
3. Which 1-mole sample has the least entropy? Jeary et
( a.)Brze at 266K S ~c. Brgpat332K
5. Brag) at 266K 5 ssvel
20) L ey d. Bryg at 332K

4. A thermometer is in a beaker of water Which statement best explains why the thermometer
reading initially increases when LiBr(s) is dissolved in the water?

a. The entropy of the LiBr(aq) is greater than the entropy of the water.

b. The entropy of the LiBr(aq) is less than the entropy of the water.

c. The dissolving of the LiBr(s) in water is an endothermic process.

d. The dissolving of the LiBr(s) in water is an exothenmc process
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5. Interms of energy and entropy, systems in nature tend to u.ndergo cha.nges toward

""a. higher energy and higher entropy ’ o . c. lowerenergy and higher entropy
. b. mgherenergyand lowef e?m‘tropy o o ) | d. lower energy and lower entropy
More Entropy P"ract_;‘ce N .
Reaction Change in Entropy ‘ Reasomng
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